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SLpwy)- p"(x)- Ax p' ()
(@) Find He e %m\mlues ond dgervectors of S,
(b) Let =31 x ¢ x*3 (the slandard busis of
B). I s d{a%onalizalple,? b 50,
onte M2 5c MI=D'DP e D
is dia%or\al and P is on inerhble mainx
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() Without oompu)rah'ons, explain why T is
dia%or\aliaablﬁ-
(b) Dia%omuzf, T



D Suppose Hat TG)=Bx (T R"->R") is
diagonalizable. Jushiy Hu pollowing,
statements:

@) & is inverkible if and only £ D is not
an e'\%mvalue.

(b) 1 A is an ei%emlalut of A, Hun A js
an ei%erwa\ut of A

() lf Ais an e{%evx\/alue of Aand A s
invertible, Han X' is an en‘%)envalu.t
of B



4. [RF T:V=V e g linear rnappin% where
dimV=3 with associated malrix with respect
o sem® basls B

M-FF‘ =[ 4 D 0
() 3 0
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For what values of aelR isT oll‘azoml(zable?



